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Oll=8X 24 892
—ANSAGHE2l 162 X
99, 108,000:& *0.90/100 892
St EH ALY 1,700,000 0 1,700,000
s 1,000,000
= 700,000
401 Al&HIZL20HYI 1,700,000 0 1,700,000
= 1,000,000
= 700,000
01 A&l 1,693,902 0 1,693,902
ORSEXAY 1,693,902
—HFEH, NS SIEELAY
1,693,902, 0002 * 14! 1,693,902
s 1,000,000
= 693,902
03 AIZ=0HHI 6,098 0 6,098
ORSEEXAY 6,098
—NFEH, NSH SHEFLAL
1,693,902,000:& *0.35999/100 6,098
ot ZHIALE 603,780 1,400,000 AT96,220
& 200,000
= 403,780




A THE2tel ot
A 9t HRE 2 B=S(2E

u]

RISOHE /=R )

i

o StE 22| (el &)
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
401 Al HIZ 20| 603,780 1,400,000 AT796,220
& 200,000
2 403,780
01 A&l 600,000 1,349,547 AT49,547
OSHIEXZ ALY 600,000
— QO & THOH Ol AL (14))
600,000,000& 14! 600,000
& 200,000
i 400,000
03 AIZ=C0HHI 3,780 50,453 A46,673
OSHIEXZ ALY 3,780
—OFo A THoH Ol & AFEY
600,000,000 *0.63/100 3,780
StE KX 2tel At 600,000 540,000 60,000
& 200,000
= 400,000
401 AIEHIL 20| 600,000 540,000 60,000
= 200,000
i 400,000
01 Al&HI 596,244 536,619 59,625
OSHIEXZAE 596,244
— ot & S X 22l AF (255km)
596,244,000 » 14 596,244
< 200,000
o 396,244
03 Al&=0Hd] 3,756 3,381 375
OZHIZF A 3,756
— ot S X 22l AF (255km)
596,244,000 *0.6299/100 3,756
s&Z 2 3,425,982 1,896, 168 1,529,814
= 1,140,814
= 2,285,168
20td RA22AS 159,997 302,160 A 142,163
101 Q24| 9,052 0 9,052
10 JIZAH22ASES 9,052 0 9,052
OGtEEHYUERXN EAHR & SIEX 9,052
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K et2te| ot
91 MHRE 2 SS(FELNAML/=T)
=3 2l (el &)
_ _ HE T
SN H - SR(EH) - NPAMY - BES Arel e HlE2
—QfY 31,0003 »1& »240 7,440
—FX==g 31,0003 »1H #5652 1,612
401 AIEHIZ SO 150,945 302, 160 A151,215
01 Al&HI 150,000 300,000 A 150,000
Ot SXl2tel At (74km)
150,000, 000& * 1Al 150,000
03 AlZ=0dl 945 2,160 ~1,215
O26td 2 Xl 22l Ak (74km)
150,000,000& x0.63/100 945
G THOH O 2 AL 450,000 643,954 A~ 193,954
401 AIEHIZLROY| 450,000 643,954 N 193,954
01 AlI&HI 446,606 640,930 N 194,324
Ootu2AotE THol ol & At
99,108,000& *14] 99,108
OAHIIACHE THOHHZAISE (22D %
&3) 198,570,000& * 14 198,570
OOHLHAGHA  TH o Ol 2 AH
148,928, 000& 14l 148,928
03 A& =0 3,394 3,024 370
Ootum2AotE THoH ol & At
99, 108,000& *0.90/100 892
OAIIAcHE THAHHZEAMS (2RISR
&3) 198,570,000& 0.72/100 1,430
OOHLHAGHA  TH o Ol 2 AL
148,928,000& *0.71950/100 1,072
A0t ZHIAMY 2,815,985 950,054 1,865,931
= 1,140,814
= 1,675,171
401 AIEHIZSOHI 2,815,985 950,054 1,865,931
= 1,140,814
i 1,675,171
01 AI&HI 2,805,214 944,193 1,861,021
O=HIEX=AS 2,805,214
—SEAGHEZHIALY
2,805,214,000% *14] 2,805,214
= 1,140,814
i 1,664,400
03 A& =20 10,771 5,861 4,910




2 T2 D
A 9D WRE 2 SS(2ELXNIENLY/+=XE)

ol S8y 2 (ctel- e
_ _ PG ==
SM-BH-H2A(FAH) - MIRAY - BES Ol & 'oﬂ/'\_FOH HusZ

O=HIE XA 10,771
— SO EHIAY
3,989,229,000& *0.27/100 10,771
Xl ot=2te| 49,052 354,000 A 304,948
= 20,000
o 29,052
Kot X2 At 49,052 354,000 A304,948
& 20,000
= 29,052
101 o124 d| 9,052 0 9,052
10 JIZH2E2XNSES 9,052 0 9,052
OEZHIEXAIY 9,052
— XSt T A Jotly 9 Y X 9,052
- o2 31,0003 1 240! 7,440
- E= A 31,0003 1H 52 1,612
401 AIEHIL L] 40,000 354,000 A 314,000
& 20,000
2 20,000
01 Al&H| 39,573 351,784 A312,211
O&EHIEX ALY 39,573
— X3t sA2el 39,573,000& * 14! 39,573
=3 20,000
= 19,573
03 Al S 0HbI 427 2,216 A1,789
OTHIEXAIY 427
—Xlgts SA&el
39,573,000& *1.079/100 427
HYESHAH| (M2l (D1EH/DIE 72,335 63,840 8,495
ol 2| 4,200 4,200 0
ol 2FH| 4,200 4,200 0
203 ERF=ZFHI 4,200 4,200 0
04 REMSIIRFEY 4,200 4,200 0
FAN2IERFAHI 350,000& x12& 4,200
Jl=Zl 68,135 59,640 8,495
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AT ME2el
A HAH2AZHI(H2el ) (DIEH/IIE)

chel: 1=l (s e
SA B S2ABH) - MRAY - BES ko ?.%Eafa o
Jl=dl 68,135 59,640

201 Ler2gy 35,495 27,000

01 At= el 35,495 27,000
OFNSH 1,800,000 »17& 30,600
OS20AHI 7,000 «17H»25& 2,975
Ogdxtz 1,920
—SUESADI 160,000 122 1,920

202 01d 32,640 32,640

01 =LHOIHI 32,640 32,640
O2U ot 100,000 x17& *12& 20,400
o220l 60,0003 x17H =122 12,240

RS (Het2eln) (532 FE/THE ST - 218 91) 61,342 59,402

WRAHAHK= 61,342 59,402

J=sdEs (M) 61,342 59,402

02 Jl=sdES 61,342 59,402

01 J=sdE=s 61,342 59,402

OREAl 2234

6,134,139,667& x1/100 61,342
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